1. Asadida verilen islemin sonucu kactir?

Find is the simplified result of the following expression.

4+ 1671
2714274 — 41
DOGU AKDENiZ UNIVERSITESI
FEN VE EDEBIYAT FAKULTESI
MATEMATIK BOLUMU 2. a=24ise
§a2 — 1 ifadesinin sonucu kactir?

ALI KARASEL If a = 2.4, then find gaz — 1.
3. Ortaokullar Arasi
Matematik Yarismasi Sorulari
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2 % + 3% — 6 ifadesinin degeri kagtir?

3 2
Ifx—l—oandy—E,

then determine the value of 2 § + 3% -6

Sekilde x kactir?
In the following figure, find x.
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Bir sayinin 3 katinin 1 eksiginin yarisi, ayni sayinin 1
fazlasina esittir. Buna gore, bu sayi kagtir?

Half of the three times minus one of a number equals
same number plus 1. Determine this number.

Sekilde a kag derecedir?
In the figure, determine a.
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4§ + 35 = AZ olduguna gore, A + b kactir?

1f 42+ 32= A2 then find 4 + b.
3 8 24



10.

450'nin %18’inin Ucte biri kactir?

What is the value of one third of 18% of 4507?

Sekilde verilenlere gore, a acisi ka¢ derecedir?

In the following figure, find a.
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olduguna gore,
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orani kactir?
xXy

X
If — = Y then find the value of
3 2 xy

(a +~ (b + C)) + ((a +~b) + C) ifadesinin en sade sekli

nedir?

Determine the simplifed form of

(a+B+c)+((a+b)+c)

3™ = 2 olduguna gére,

32m+1 kactir?

If 3™ = 2, then determine the value of 32*1



14. a+ b = 12 ve c = 9 olduguna gére, 16. Sekilde m(4BC) = 54°, m(DEA) = 69° ve

a? — c¢? + 2ab + b? ifadesinin degeri nedir? m(BAC) = m(CAD) = m(DAE) olduguna gére, m(CDA) = x
kag derecedir?
Ifa+ b =12and ¢ =9, then find the value of

a? — c? + 2ab + b? In the figure, given m(4BC) = 54°, m(DEA) = 69° and

m(m) = m(m) = m(m) Find m(m) =x

A
15. Sekilde |ED| =3, |AE| = 4 ve |CD| = 5 birim olduguna

gore, ACDE bdlgesinin alani kag birim karedir?

In the figure, if |ED| =3, |AE| =4 and |CD| =5, then find

the area (in unit?) of the region ACDE. 540 x 699
E 3 D B C D E
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17. 198892 sayisinin 9 ile bolimiinden kalan kagtir?

Determine the remainder of 198892 dividing by 9.




1 x—1 X X . i ik G
18. - — (— — —) = — esitligini saglayan x dederi kagtir? 20. Sekilde ABC dik tiggen, [BA] L [?C]’ [AD] L BC],
3 3 2 12 |BA| = 3 cm ve |AC| = 4 cm olduduna gore, |AD| = x kag
cm dir.
1 x—1 X X
ven 1 (2 -2) =2 T
3 3 2 12 In the figure, ABC is a right triangle, [BA] 1 [AC],
Solve for x. [AD] L [BC], |BA| = 3 cm and |AC| = 4 cm.
Find |AD| = x.
3
x—1 +1
19. = =2 vex —y =3
2 3
olduguna gore, xy carpimi kagtir? B
x—1 +1
Given — = 2= and x—y=23.
2 3
Find xy.
3¥tY =81
21. ve
2¥7Y =4
olduguna gore, % kactir?
Given
3*tY =81
and
27V =4
Determine the ratio of%




22. Fiyati 240 TL olan bir Grinin fiyatina dnce %40 zam 24. m + 1 olmak lzere,
yapilmig, daha sonra da, trtnin son fiyati Gzerinden 4x +2(m — 1)y — 9 = 0, dogrusunun ediminin 4 olmasi
%10 indirime gidilmistir. Buna goére, Grinlin son fiyati
kag TL olmustur?

icin m ne olmahdir?

Determine m, if the slope of the line
The price of a product was 240 TL has been increased by 4x+2(m—-1)y—9=0, (m#1) is 4.

%30. Then a 10% discount was made on the increased
price. Accordingly, what is the final price of the product?

- _ . o ) N
23. Sekilde ABD dik tiggen, m(ABD) = 90°, |AB| = 18 cm, 25. Sekilde [4B]//[DC] olduguna gore, x +y kactir

|BD| = 24 cm, |AE| = 2x cm, |ED| = 3x cm dir. In the figure, given that [AB] // [DC]. Find x +y =?

In the figure, it is given that ABC is a right triangle, A
m(ABD) = 90°, |AB| = 18 cm, |BD| = 24 cm, |AE| = 2x cm,
and |ED| =3xcm
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YEDEK SORULAR
(esitlik halinde 6nce ilk Ug soru birlikte, esitlik halinde 4. soru,
esitligin devam etmesi halinde de 5. soru degerlendiriimeye
alinacaktir.)

26. 2%*2 sayisi 2271 sayisinin kag katidir?

The number 2%%2 is which multiple of 2¢71?

4
27. 1 + ——F— = 2 esitligini sadlayan x degeri kactir?

2 +x_—1

Determine the value of x which satisfies the following
equality;

4
1+——=2

6
242

28. Sekilde ABCD bir kare ve |AC| = 10 cm dir.
Buna gore, karenin alani kag cm? dir?

In the figure, it is given that ABCD is a square and
|AC| = 10 cm. Find the area of the square.

D C
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29. Iiki basamakli iki cift sayinin farki en cok kag olabilir?

What is the posible maximum value of the difference of
2 two digit even numbers?



30. Sekilde ABC eskenar tggen, ECD de ikizkenar icgen
olup |CD| = |DE| ve m(CDE) = 50° dir.
Buna gore, m(ACE) = x kag derecedir?

In the given figure; ABC is an equilateral triangle,
ECD isisceles triangle such that |CD| = |DE| and
m(CDE) = 50°. Determine m(ACE) = x.
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